8 Algebra CC

~ Essential Question: What types of numbers result from multiplying rational and irrational numbers?

Do Now: Determine if each statement is true or false. Use the order of operations to eva!um‘e each
" side of the equation.

) V4e/9=436 b) 5e3J4 =154 c) 69e2J4=12/36
2:3: b 1547 = 15V b(3) - 22) = 12(b)
b=k - Tée [8e4=72
Trve 72 = 712
Trve

How do we multiply radical expressions?

Rule: ax/g ° c«/g = achJ_d
1*: Multiply Coefficients
2": Multiply Radicands
Never multiply a coefficient and a radicand

Multiply the radical expressions below. Simplify if possible.

1) 2e4f5 2) V315 3) 67442
NIT: N5 24

N VE
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What type of number is the result of the product of two rational numbers?

a) 5x10 b) %xg &) —B2x0 d) JAx+25
50 5 0 2-5
2 | -
rafienal /3 rational

. ratienal
rationg [

Conclusion: i ’
~ -~ The product of two rational numbe.r's is always a ratend number.




What type of number is the result of the product of a rational number and an irrational number?

Q) 6x+2 b) Tx100 ) V4x\B d) 0x+18
N2 1007 245 )
(crational icrational icrational rational

Conclusion: _ -
The product of a non-zero rational number and an irrational number is always an
ircational number.

What type of number is the result of the product of two irrational numbers?

a) XM b) v2x+5 c) V248 d) (ﬁ)z a nx%
0 NT \ i
irrational itrational 4 7 | 7:[
rational rational rational

Conclusion: .
The product of two irrational numbers can result in a rational
number or an rational number.,

Remember:

ReR= R .

Sums and Products of Rational and Irrational Numbers

e Addition of two rational numbers will result in a sum that is a(n) rationa l number.
* Multiplication of two rational numbers will result in a product that is a{n) Cationa , number,
* Addition of a rational number and an irrational number will result in a{n) __{ rrational sum.

® Multiplication of a non-zero rational number and an irrational number results in a(n) __{ rratie na ’
product. ;s

e The sum or product of two irrational numbers may be rationa I or 14 +iond '




